EEREH

1. $h&
DIEO% - A%, MRAITES,
a+(-b)=a-b, a-(-b)=a+b, a:(-b)=-a-b, (-a):(-b)=a-b
DFEHGIE, FHIR, SR, BFER
aXaXaX:.+Xa=am, am-g"=gmtn_ (gm)"=gmn_ (g-b)m=gm-bm  g-m=]/gm  a0=1,
a2=b — a=b”2=/ b, a%=b — a=blB=3/b, ar=b — a=blr=n/b
3) A, AL
a=b — a+tc=b+c, a-d=b-d. a/b=a/bXc/c=a-c/(b-c). a/bXc/d=a-c/(b-d),
a/b-+c/d=a/b X 1/c/d=a/b X d/c
atb=c — a=c-b, a‘b=c — a=c/b, 1/(a-b)=m/a+n/b (m. n (XEEL. D05 i)
DR, EFEE WEOERE, HEVE (EREOBER) .
J D=1 i2=1, z=a+ip | EEOEFEK 2z =a-ip. FEEh, EEN (EFE )
5) 1 ez, iz 1 A, 2 kR, oA
ax+b=0 — x="bla, BN ()
ax2tbx+tc=0 — (x-a)'x-B)=0 x=a. B F7iF x=(-bx/ (b2-4ac))/2a.

2. ¥
DML P&, FE=R o, s
r=MEELE, lrad=slDO & X/ B, 360deg=2nr/r=27 .
2)[EfE : s=a-b, s=1/2-a‘b, -+, s=xr2=1/4-nd2 s=0/2n-1/4- td?2
IRME (FkE, MFE, AsE, M), (KL EE
V=SH., V=SH/3, m=pV
4) = OE R
a2=b2+c?2 (7=72L. fAbc=xn/2)



